Quadratic continue

Thursday, November 12, 2020 5:55 AM
J.@ £L) = C;‘(—-}-Jzi‘K. vedex for (KD
() = axFbarc — jenwd darr— -

£
g 00 =a.(2’*f_) Y - Jfochkrized form

A quodradtc £7 wWuzh 3 britten in
A= alz-pexy) , a0 (it fomm)

(B (49

fp= (28

Ef x> ;1 C‘?-mvv‘
< -indtncept3 j{,/‘szl'ww“—/ven—fv-j Aleeteh

o) )= (24 Xz

}g_.}.,.lu)(%u)/ (4(0)
o mlvcept - )= (0-2)(o-8) =&
-8 |
L R A= (3-4) (D)

VC”‘J;E—_’”_@ (3/”)

\ |
NI

o4 Fz)= —2 A3 (+1D)

g:

Ws C‘Z/ 2)
A (-3,0 , (rve) ™
Y,.:wh/tfc (o,-¢) CD)KV

# W'fbg&hm Jrom v fackeize form.

L/
2)  pp= itz (6 2 fro=(z+8)(x-2)
fx)< a (Z-pXZ-1)

) ez — 4 HeX
= -ﬁ@{—l) = '41‘(1"%)



F0)= al2-p)(7-2)
fx)= 4 (24403 = LE+(r-3)

= 2 (L4 —12)= 22

g2 o= al(TW K

=
CO/A)
A1)
& —_—
- 4 (-3 x- \/-
i ‘3( X Q j/ CZ/’Z)
& LA +3 = (Avnodsnbe <)

Coupletng Ho daven:
P (2) -3

oYzt +3-4=0

2~
(2+) = |
(At2)= *t

= -2+

(x+3X7+1)=0C

= ’3/—1

wt t se e
A P_O’r/___%/"_‘t‘i\ % g}@é

ft0= 4% 22— S
jﬂt)s 37+2

412/27(/5; 3+ 2
(4= 52 -3=0
01“/‘17 b:/>; Cz":)'

_L 4 Jb=hat
A J2*
fo LT
_ s 4 Js 4ED 24
8 1)z



_ s 4 Jis AED 24

I e

\

s+ [+ 2
g e

%
S,tf;?f? P
8 s i

I

£ Atve guadsakt o 197 a;wpfekva Hai

/giu\w-—f_-.

222-5:{4-‘3:-—0 5
—_—

Slat
Z-STFES| ==z +25 ( @
z 2
£1F 13
(1' 2) AT
v S1) = i\/E
(2- 2) >
-t 3 LB
A= 2 T o
_| s J5
2
Suww‘]-‘ A;L%—éac uscrinivend-
a2+ bx Fc=0-
Hh >0 = Y
A=o0O |— 2 A (vepestd)
A <0 | ——| o seal stz

(No X —rtercedt)
DS
)

= (=20 (x4
fin= Gigzalect)

A /St{w? meg mﬂﬂ?
FLx+8 <o-

(:zfrﬂi(zﬂé)1 e

p—T of| & g
%72 0,:/-.61 -’(dzf +"FT
o cx <4 gﬂ¢LW%@¢?

(54%)

B

- W

[
L > I
124 2% -5 * x-3
[/
_ L -2]20
[ £J? z=7

I::

72 7 dhs ., SN



o e e e

s
4 o =T -, (.
Fut Wza
L= P s
137 -CH'ra -
=
Pind i T

Jﬁ}"'f"”k/ 7= 551']"41'4"’! fros  sox—mdergefof

A:— b%—'-’-m-.(,
=30
K86 < ©-

;49'4 5C|

Lﬁ’ld Nointher F{c.vuﬂ o et [[Zom % Fc;v-uxa
wild o }«:CWM R

a) Letii&

g

Frod e [ P :
fows § 24 TS —

b  Frnd Hae  olmesnsor gfwrjﬁwﬂ

oo™

,VgO Fred Ho  mazimum Passib,k e g pon.

F.e,ww}u. =120 = 2L+2%.

"_? 60 ':.'_-Q‘l“st
L (6o
Aes = pr= (6072 X

p=fo) = Z(=x)

A 2ee = Z(bom)=3<0
2| go( +Bop=2 |
(2 —hp)(X~30) =
7 i _ig__ ZX= 2o -
,é:: z2o /g'—' 40-
() A= =c(bo—)= —Z ¢6ox
1=k |- . 5 SR L
T 2a 2 €1)
A = 50(69——359 = 9O m*
AL A
| em ek
L ——— Aaa. 5"{&\9 _.50: “M

—Bn



» 5’{0‘9 30 = 54”_‘7
I - Mue by = ﬂb j 70 SR (Z‘h%v)?(@s» qu,ﬁf % ’
Qrerd ADXB < %Z%W 409 _ Bh4w 4o
éo CZ+359: =4 20 ﬁo,z
2% L x qox L = ) L e — I
Z it 7= 2=t a0 ,_;j’*; = Shco- b
A (7‘a+%—x))< 90| pre~d Dxga=F-, [ J
2 ! x90%65 Eémj,—:(géaa_éog)CQD-y
£ z %
o = (180-) =8/o0— 27o° (Z+90) = T4

=z = 5—4?54'_%0

2o¢ = |B80—X
3X =180 = Z=60




